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B. Give the ARG-ST and RESTR values for one of the passive participles in (i)–(iii),
along with the ARG-ST and RESTR values of the corresponding active form.

C. Propose an additional lexical rule that will produce appropriate lexical sequences
for the passive participles in these sentences.

[Hints: Your new rule should be similar to our existing Passive Lexical Rule. Assume
that the prepositions involved in examples of this sort are all argument-marking
prepositions – that is, they all share INDEX and MODE values with their object
NPs. Your rule will need to use these INDEX values (and the FORM values of
the prepositions) in producing the passive lexemes needed to license examples like
(i)–(iii).]

D. Explain how your lexical rule relates the ARG-ST values you gave in (B) to each
other.

E. Assuming the lexical entry in (iv), does the rule you formulated in (C) predict that
both (iii) and (v) are grammatical?

(iv)
〈

talk ,

[
new-v-lxm

ARG-ST 〈 NP (, PP[to]) (, PP[about]) 〉

]〉

(v) This person was talked to by every teacher.

Explain your answer.

Problem 3: The Dative Alternation
In Chapter 8, we mentioned the possibility of formulating a lexical rule describing the
‘dative alternation’ – that is, a class of verbs that appear in both of the valence patterns
exemplified in (i) and (ii):

(i)

Dale






gave

handed

sold

loaned

mailed






Merle a book.

(ii)

Dale






gave

handed

sold

loaned

mailed






a book to Merle.

A. Is this alternation productive? Justify your answer with at least two examples.
[Hint: See the discussion of productive lexical rules at the end of Section 8.1 of
Chapter 8.]

B. Formulate a lexical rule for the dative alternation.

[Hint: Consider which kind of l-rule (i-rule or d-rule) this should be, based on
the kind of constraints you need to write. You can choose either of the valences
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illustrated in (i) and (ii) as the input and the other as the output. It should not be
easier one way than the other.]

C. Show how your rule interacts with the Passive Lexical Rule to make possible the
generation of both (iii) and (iv). Your answer should include ARG-ST values show-
ing the effect of applying the rules. [Hint: First consider which order the rules apply
in, based on the types of the INPUT and OUTPUT values of each rule.]

(iii) Merle was handed a book by Dale.
(iv) A book was handed to Merle by Dale.

D. Explain why your rule correctly fails to license (v) (or, more precisely, fails to
license (v) with the sensible meaning that the book was the thing handed to Merle).

(v) ?*A book was handed Merle by Dale.


